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smoky
sparkly
spiky
stony
tasty
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Grammar and punctuation

1. Read the words and put a ring around the word that has a
silent consonant letter in the following sets of words.

climb, bake, look

beast, cupboard, sit

autumn, fan, mum

long, knock, peg

2. Can you write the plural for the following nouns that have
irregular plurals?

* foot

* woman
* goose

*  mouse

* tooth

Reasoning

1. Kinza’s family party starts at twenty minutes to seven.
Look at the clock below. How much time is left for the party to start?

2. Alex wants to buy a packet of biscuits. He gives the shopkeeper £1.65. The

shopkeeper says, ‘You need 45p more to buy the biscuits’. -Ij g&g

How much do the biscuits cost?

3. Sara has 72 roses and 8 vases.
She puts the same number of roses in each vase.

3

How many roses are in each vase? .




